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Seat No.: ________                                                           Enrolment No._________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering C to D Bridge Course Examination – WINTER 2013 

Subject Code: C300015 Date: 26-12-2013        
Subject Name: Fundamental of Mechanical Engineering 
Time: 02:30 pm - 04:00 pm Total Marks: 70 
Instructions: 

1. Attempt all questions.  
2. Make suitable assumptions wherever necessary. 
3. Each Question is of 1 Mark. 
4. English version is considered to be Authentic. 
5. Use of Simple Calculator is permissible. (Scientific / Higher Version not allowed) 

 
No. Question Text and Option 

1. 
Which of the following is not temporary fastner? 
A. Nut-bolt B. Split Pin 
C. Button D. Welding 

2. 
Which of the following is not permanent fastener? 
A. Soldering B. Split pin 
C. Welding D. Brazing 

3. 
Which of the following is one type of thread? 
A. V- thread B. Spot welding 
C. Nut-bolt D. Snap head rivet 

4. 
In I.S.O. symbol of thread  (M 12 × 1.25,7h×75) M stand for 
A. British B. Both a & c 
C. Metric D. None of above 

5. 
U-bolts are used for 
A. To clamp  pipe or round surface B. To lifting the object 
C. To create pivot point D. None of above 

6. 
Following is not a pipe fitting 
A. Coupling B. Union 
C. Elbow  D. Rivet 

7. 
Wire stripping plier is used for  
A. To cut the wire B. To remove insulation  from wire 
C. To join wires C. All of above 

8. 
Effect of slip in belt drive on velocity ratio 
A. Velocity ratio decreases B. Velocity ratio increases 
C. Velocity ratio does not change D. Non of above 

9. 
Which one of the following is a positive drive? 
A. Flat belt drive B. V-belt drive 
C. Wire rope drive D. Chain drive 

10. 

When rotary motion is to be converted in to linear motion following gear arrangement 
is used. 
A. Spur gears B. Spiral gears 
C. Rack and pinion D. Bevel gears 

11. 
Which of the following element is used to connect two shafts. 
A. Clutch B. Brake 
C. Coupling D. All of above 

12. 
Which one of the following is cause for personal accident in shop floor? 
A. Wear a safety shoes  B. Wear a loose cloths 
C. Don’t touch the rotating parts C. Concentrate on job while working 
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13. 
Which one of the following is cause of accidents ? 
A. Faulty machine B. Faulty electric wiring 
C. Machine drive without guard D. All of above 

14. 

Which one of the following is a remedy to avoid accidents? 
A. Proper maintenance of 

equipment 
B. Proper lighting and ventilation 

C. Knowledge of safety rules D. All of above 

15. 
Which of the following is a power transmission device 
A. Gear drive B. Chain drive 
C. Rope drive D. All of above 

16. 
Which of the following is not an advantage of flat belt drive 
A. Occupied more space B. No lubrication required 
C. Less noise produced D. lesser primary cost 

17. 

Which of the following is not a method of reducing slip 
A. To increase the angular contact B. To spray resin powder inside the belt 
C. Apply  lubrication in side the  

belt 
D. Use crowing pulley 

18. 
Which of the following is disadvantage of  V- belt 
A. Multi groove pulley can be used  B. Complicated design of V belt pulley 
C. Lesser slip of belt C. Safer than flat belt 

19. 
Which of the following is a rigid coupling 
A. Bush and pin type coupling B. Universal coupling 
C. Oldham coupling D. Flange coupling 

20. 
In the reverted gear train driver and driven gears are rotate in  
A. Same direction  B. Opposite direction 
C. Both a & b D. None of above 

21. 
Which are the range of Low velocity gear ratio? 
A. V<3 m/s B. V>3 m/s
C. V>15 m/s C. None of above 

22. 
Which of the following is a machining process 
A. Welding B. Turning 
C. Brazing D. Soldering 

23. 
Which of the following is a metal joining process? 
A. Machining B. Milling  
C. Gas cutting D. Welding 

24. 
Which of the following is a surface finishing process? 
A. Turning B. Boring 
C. Lapping D. Milling 

25. 
Which of the following is not a electric arc welding? 
A. Metal arc welding B. Thermite welding 
C. Submerge arc welding D. Carbon arc welding  

26. 
In the gas welding following gases are used 
A. Oxygen & acetylene B. Oxygen & nitrogen 
C. Oxygen & helium D. Oxygen & carbon dioxide 

27. 
In the brazing process  
A. Both metals are melt B. Only filler metal is melt 
C. Only base metal is melt D. Both metals are not melt 

28. 
Which of the following is not a step of casting process? 
A. Pattern making B. Mould and core making 
C. Melting and pouring D. Coining 

29. 
Which of the following is the limitation of casting process 
A. Intricate shape can be cast B. Any metal can be cast 
C. Costlier for lesser quantity D. Chipper in mass production 



3/11 

30. 
Which of the following is the cold working process 
A. Cold rolling B. Welding  
C. Hot rolling D. Casting  

31. 
Which of the following is not a basic machine tool ? 
A. Lathe  B. Milling  
C. Shaping  D. Forging press  

32. 
Which of the following is not a special purpose lathe  
A. Wheel lathe B. Engine lathe 
C. Gap bed lathe  D. Duplicating lathe 

33. 

Which operation is not performed holding the work piece between two centres of 
lathe? 
A. Straight turning B. Taper turning 
C. Boring  D. Thread cutting 

34. 
Which of the following is not a drilling process? 
A. Facing  B. Drilling  
C. Reaming  D. Taping  

35. 
Which of the following is not a milling process? 
A. Side milling B. Honing  
C. Gear cutting D. End milling 

36. 
The function of a boiler is…… 
A. To compressed steam B. To heat feed water 
C. To generate steam D. None of above 

37. 

A type of boiler in which hot gases are inside the tubes and water is surrounding is 
called…… 
A. Water tube boiler B. Fire tube boiler 
C. Natural circulation boiler D. Forced circulation boiler 

38. 
Following boiler is  fire tube boiler…… 
A. Cochran boiler B. Babcock and Wilcox boiler 
C. Both a & b D. None of above 

39. 
Which of the following is a boiler accessory? 
A. Feed check valve B. Safety valve 
C. Water level indicator D. Economiser  

40. 
Function of economiser is…… 
A. To heat the flue gases B. To heat fuel going to boiler 
C. To heat the feed water D. To heat air going to boiler 

41. 
The function of air pre heater is ……. 
A. To heat air going to boiler B. To heat flue gases 
C. To heat fuel going to boiler D. To heat the feed water 

42. 
Pelton wheel  turbine is a…….. 
A. Impulse turbine B. Reaction turbine 
C. Both a & b D. None of above 

43. 
The diesel engines are also known as __________ engines. 
A. Spark ignition B. Both a & c 
C. Compression ignition D. None of above 

44. 
A petrol engine, during suction stroke draws 
A. Air only B. Petrol only 
C. Mixture of petrol and air D. None of above 

45. 
In which engine spark plug is not there….. 
A. Petrol engine B. Diesel engine 
C. Gas engine D. None of above 

46. 
Which one is the link between piston and crank? 
A. Connecting rod B. Piston pin 
C. Push rod D. Crank shaft 
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47. 

In two stroke cycle engine one cycle is completed in the following number of 
revolutions of the crank shaft…… 
A. Three B. Four  
C. Two  D. One  

48. 
A two stroke engine has…… 
A. Inlet and exhaust valves B. Inlet and exhaust ports 
C. Inlet, exhaust and transfer ports D. All of the above 

49. 
Which system is not the part of I. C. engine  
A. refrigeration  system B. Fuel system 
C. Cooling system D. Lubrication system 

50. 
The petrol engines are also known as __________ engines.
A. Compression ignition B. Spark ignition 
C. Both a & b D. None of above 

51. 
Stroke length is defined as the motion of piston from…… 
A. BDC to TDC B. BDC to TDC to BDC 
C. TDC to BDC to TDC D. None of above 

52. 
The mass per unit volume of a liquid is called....... 
A. Specific weight B. Density  
C. Specific gravity D. None of these 

53. 
The weight per unit volume of a liquid is called ....... 
A. Specific weight B. density 
C. Specific gravity D. None of these 

54. 
The mercury does not wet the glass. This is due to the property of liquid known as..... 
A. High Cohesion  B. High Density   
C. Viscosity  D. Surface tension  

55. 
A fluid which obeys the Newton’s law of viscosity is termed as ...... 
A. Real fluid B. Ideal fluid 
C. Newtonian fluid D. Non- Newtonian fluid  

56. 
Which one of the following is not a positive displacement pump? 
A. Reciprocating pump B. Centrifugal pump 
C. Gear pump D. Screw pump 

57. 
Which one of the following is not component of centrifugal pump 
A. Impeller  B. Casing  
C. Suction pipe D. Suction valve 

58. 
A pump in which the liquid is discharged due to the to and fro motion of piston ..... 
A. Reciprocating pump B. Centrifugal pump 
C. Screw pump D. Gear pump 

59. 

The function of foot valve in centrifugal pump is ...... 
A. Allowing liquid to move 

downward direction only 
B. Allowing liquid to move upward 

direction only 
C. Supporting to strainer D. None of above 

60. 
A machine used to raise the pressure of air is called 
A. Gas turbine  B. I.C. Engine 
C. Boiler  D. Compressor  

61. 
The compressed air may be used 
A. In centrifugal pump B. For operating pneumatic drills 
C. A & B Both D. None of above 

62. 
Hydraulic press works on..... 
A. Pascal law B. Newton law 
C. Taylor law D. None of above 

63. 
Water turbine is mainly used in  
A. Gas turbine plant B. Thermal power plant 
C. Hydro – electric power plant D. None of above 
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64. 
Which of the following is not a boiler mounting? 
A. Water level indicator B. Safety valve 
C. Pressure gauge D. Super heater 

65. 
Which of the following is not a boiler accessory? 
A. Pressure gauge B. Air pre heater 
C. Economiser  D. Super heater 

66. 
Belt conveyer is used to transfer material for 
A. Long distance B. Short distance 
C. Both a & b D. None of above 

67. 
Which of the following is a earth moving machinery 
A. Fork lift B. Screw conveyer  
C. Bull dozer D. Elevator  

68. 
Which of the following is not a hoisting equipment 
A. Lift  B. Crane 
C. Chain pulley block D. Fork lift 

69. 
Following is not a crane 
A. Bridge crane B. Locomotive crane 
C. Truck mounted crane D. Hand lorry 

70. 
Following is used for compaction of dammar road  
A. Bucket elevator B. Bull dozer 
C. Road roller D. Mixing machine 

 
************** 

Ȥજુરાતી 

ન.ં ̆ĕ તેમજ િવકƣપ 

1. 

નીચેના માથી કȻ ુટ°Ơપરર� ફાƨટનર નથી? 

A.  નટ બોƣટ  B. ƨƜલીટ પીન  

C. બટન  D.  વેƣડӄગ  

2. 

નીચેના માથી કȻ ુપરમેનƛટ ફાƨટનર નથી? 

A.  સોƣડરӄગ  B. ƨƜલીટ પીન  

C. વેƣડӄગ  D.  ̈ેઝӄગ  

3. 

નીચેના માથી કયો એક ̆કારનો ̂ેડ છે? 

A.  વી-̂ેડ  B. ƨપોટ વેƣડӄગ  

C. નટ બોƣટ  D.  ƨનપે હ°ડ ર�વેટ 

4. 

̂ેડના ISO સીƠબોલ (M12 x 1.25, 7h x 75) મા ંM એટલે ........  

A.  ̈ીટ�શ B. A અને C બđે  

C. મે˼�ક  D.  ઉપરમાથંી કોઇ નહ�  

5. 

U – બોƣટ નો ઉપયોગ ...... 

A.  ગોળ સપાટ�/પાઇપને પકડાવવા  B. વƨȱનેુ ઉચકવા માટ°  

C. પીવોટ પોઇƛટ બનાવવા માટ°  D.  ઉપરમાથંી કોઇ નહ� 

6. 

નીચેમાથી કȻ ુપાઇપ ફ�ટӄગ નથી? 

A.  કપલӄગ  B. Ȼનુીયન 

C. એƣબો.  D.  ર�વેટ 
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7. 

વાયર ƨ˼�પӄગ પકડનો ઉપયોગ........  

A.  વાયર કાપવા માટ° B. વાયર પરથી ઇનƨȻલેુશન ȳુર કરવા માટ°   

C. વાયરનો સાધંો કરવા માટ°  D.  ઉપરના દર°ક  

8. 

ƨલીપની બેƣટ ˾ાઇવના વેલોસીટ� ર°શીયો પર અસર  

A.  વેલોસીટ� ર°શીયો ધટ° છે.  B. વેલોસીટ� ર°શીયો વધે છે. 

C. વેલોસીટ� ર°શીયો બદલતો નથી.  D.  ઉપરમાથંી કોઇ નહ� 

9. 

નીચેમાથી કઇ પોઝીટ�વ ˾ાઇવ છે? 

A.  Ɲલેટ બેƣટ ˾ાઇવ  B. વી-બેƣટ ˾ાઇવ  

C. વાયર રોપ ˾ાઇવ  D.  ચેઇન ˾ાઇવ 

10. 

કયા ગીયરનો ઉપયોગ  રોટર� મોશનમાથી લીનીયર મોશનમા બદલાવવા માટ° થાય છે?  

A.  ƨપર ગીયર   B. ƨપાઇરલ ગીયર   

C. ર°ક એƛડ પીનીયન   D.  બેવેલ ગીયર  

11. 

બે શાƝટને જોડવા માટ° કયા એલીમેƛટનો ઉપયોગ થાય છે? 

A.  ƈલચ  B. ̈ેક  

C. કપલӄગ  D.  ઉપરના દર°ક  

12. 

શોપ Ɲલોર ઉપર ƥય�ƈતગત અકƨમાત થવાȵ ુકારણ  

A.  સલામતી Ƀઝુ પહ°રવા B. ȣલુતા કપડા પહ°રવા 

C. ફરતા ભાગોને અડɂ ુન�હ  D.  કામમા એકા˴તા રાખવી 

13. 

નીચેમાથી ɉ ુઅકƨમાત થવા માટ°ȵ ુ કારણ છે? 

A.  ખામીવાį મશીન  B. ખામીવાį ઇલેƈ˼�ક વાયરӄગ  

C. ગાડ½ વગરના મશીન ˾ાઇવ   D.  ઉપરના દર°ક  

14. 

નીચેમાથી ɉ ુઅકƨમાત િનવારવા માટ° ઉપયોગી છે? 

A.  મશીનની સાર� સાળસભંાળ  B. ƥયવ�ƨથત હવા ઉĤસ  

C. સલામતી િનયમોની Ĥણકાર�  D.  ઉપરના દર°ક  

15. 

નીચેમાથી કઇ પાવર ˼ાƛસમીશન ડ�વાઇસ છે?  

A.  ગીયર ˾ાઇવ B. ચેઇન ˾ાઇવ  

C. રોપ ˾ાઇવ  D.  ઉપરમાથી દર°ક  

16. 

નીચેમાથી કયો Ɲલેટ બેƣટ ˾ાઇવનો ફાયદો નથી? 

A.  વધાર° જƊયા રોક° છે.  B. ɀુ̈ ીક°શનની જĮર�યાત નથી 

C. ઓછો અવાજ કર° છે. D.  ઓછ� ̆ાઇમર� �ક�મત છે.   

17. 

નીચેમાથી કઇ ƨલીપ ધટાડવાની ર�ત નથી? 

A.  એƛƊȻલુર કોƛટ°ક વધારવો  B. બેƣટની Ӕદરની બાȩુ ર°ઝીન પાવડર છાટવો 

C. બેƣટની Ӕદરની બાȩુ ɀુ̈ ીક°શન કરɂ ુ D. ˲ાઉનӄગ વાળ� ȶƣુલી વાપરવી  
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18. 

નીચેમાથી કયો વી-બેƣટનો ગેરફાયદો છે?  

A.  મ�ƣટʎવૂ ȶƣૂલી નો ઉપયોગ કર� 

શકાય છે.  

B. વી-બેƣટ ȶƣૂલીની �ડઝાઇન અટપટ� છે.  

C. બેƣટની ƨલીપ ઓછ� છે.  D.  Ɲલેટ બેƣટ કરતા વધાર° સલામત છે.  

19. 

નીચેમાથી કઇ ર�ĥડ કપલӄગ છે? 

A.  ȸશુ અને પીન ટાઇપ કપલӄગ  B. Ȼનુીવસ½લ કપલӄગ  

C. ઓƣડ-હામ કપલӄગ  D.  ƝલҪજ કપલӄગ 

20. 

ર�વેટ²ડ ગીયર °˼ઇનમા ˾ાઇવર અને ˾�વન ગીયર કઇ �દશામા ફર° છે? 

A.  બđે એક જ �દશામા ફર° છે.  B. બđે િવȿુƚધ �દશામા ફર° છે.  

C. A અને B બđે  D.  ઉપરમાથી કોઇ નહ�.  

21. 

લો વેલોસીટ� ગીયર ર°શીયોની ર°ƛજ......    

A.  V < 3m/s B. V > 3m/s 

C. V > 15m/s D.  ઉપરમાથી કોઇ નહ� 

22. 

નીચેમાથી કઇ મશીનӄગ ̆ોસેસ છે? 

A.  વેƣડӄગ  B. ટન¢ગ  

C. ̈ેઝӄગ  D.  સોƣડરӄગ  

23. 

નીચેમાથી કઇ મેટલ જોઇનӄગ ̆ોસેસ છે? 

A.  મશӄનӄગ  B. મીલӄગ  

C. ગેસ કટӄગ  D.  વેƣડӄગ  

24. 

નીચેમાથી કઇ સફ²સ ફ�નીશӄગ ̆ોસેસ છે? 

A.  ટન¢ગ  B. બોરӄગ  

C. લેપӄગ  D.  મીલӄગ  

25. 

નીચેમાથી કȻ ુઆક½ વેƣડӄગ નથી? 

A.  મેટલ આક½ વેƣડӄગ  B. થમ�ટ વેƣડӄગ  

C. સબમȒ આક½ વેƣડӄગ  D.  કાબ½ન આક½ વેƣડӄગ  

26. 

નીચેમાથી ગેસ વƣેડӄગમા કયા ગેસનો ઉƜયોગ થાય છે?  

A.  ઓƈસીજન અને એસીટ�લીન  B. ઓƈસીજન અને નાઇ˼ોજન  

C. ઓƈસીજન અને હ�લીયમ  D.  ઓƈસીજન અને કાબ½ન ડાયોƈસાઇડ  

27. 

̈ેઝӄગ ̆ોસેસમા......... 

A.  બđે મેટલ પીગળે છે. B. ફƈત ફ�લર મેͫલ પીગળે છે. 

C. ફƈત બેઝ  મેͫલ પીગળે છે. D.  બđે મેટલ પીગળતી નથી. 

28. 

નીચેમાથી કȻ ુકાƨટӄગ ̆ોસસેȵ ુƨટ°પ નથી? 

A.  પેટન½ બનાવવી B. મોƣડ અને કોર બનાવવા 

C. મેƣટӄગ અને પોરӄગ  D.  કોઇનӄગ  
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29. 

નીચેમાથી કઇ કાƨટӄગ ̆ોસેસની મયા½દા છે? 

A.  Ӗ˼�ક°ટ આકાર બનાવી શકાય છે. B. કોઇપણ મેટલ કાƨટӄગ કર� શકાય છે.  

C. ઓછા જƘથા માટ° મҭȴ ુપડ° છે. D.  માસ ̆ોડƈશનમા સƨȱ ુપડ° છે. 

30. 

નીચેમાથી કઇ કોƣડ વક¡ગ ̆ોસેસ છે? 

A.  કોƣડ રોલӄગ  B. વેƣડ�Ȥ ્

C. હોટ રોલӄગ  D.  કાƨટ�Ȥ ્

31. 

નીચેમાથી કȻ ુબે�જક મશીન Ȭુɀ ્નથી? 

A.  લેથ મશીન B. મીલӄગ મશીન 

C. શેપӄગ  મશીન D.  ફોજ¢ગ ̆ેɅ ્

32. 

નીચેમાથી ɉ ુƨપેશીયલ પરપઝ મશીન  નથી? 

A.  ƥહ�લ લેથ  B. Ӝĥન લેથ 

C. ગેપ બેડ લેથ D.  Ȯુ�Ɯલક°ટӄગ લેથ 

33. 

લેથȵ ુɉ ુઓપર°શન જોબને બે સҪટર વƍચે પકડાવીને કરવામા આવȱ ુનથી?  

A.  ƨ °˼ઇટ ટન¢ગ  B. ટ°પર ટન¢ગ  

C. બોરӄગ  D.  ̂ેડ કટӄગ  

34. 

નીચેમાથી કȻ ુઓપેર°શન ˾�લӄગ મશીન ઉપર થȱ ુનથી? 

A.  ફ°સӄગ  B. ˾�લӄગ  

C. ર�મӄગ  D.  ટ°પӄગ  

35. 

નીચેમાથી કȻ ુ મીલӄગ ઓપર°શન નથી? 

A.  સાઇડ મીલӄગ  B. હોનӄગ  

C. ગીયર કટӄગ  D.  Ӝડ મીલӄગ  

36. 

બોઇલરȵ ુકાય½ ....... 

A.  ƨટ�મને કƠ̆ેસ કરવા માટ° B. ફ�ડ વોટરને ગરમ કરવા માટ° 

C. ƨટ�મ બનાવવા માટ° D.  ઉપરમાથી કોઇ નહ� 

37. 

કયા બોઇલરમા ગરમ ગેસ ટȽબુની Ӕદર હોય છે અને પાણી ટȽબુની આȩુબાȩુ હોય છે? 

A.  વોટર ટȽબુ બોઇલર B. ફાયર ટȽબુ બોઇલર 

C. નેચરલ સɉુ½લેશન બોઇલર D.  ફોસ½ સɉુ½લેશન બોઇલર 

38. 

નીચેમાથી કȻ ુફાયર ટȽબુ બોઇલર છે? 

A.  કોચરન બોઇલર B. બેƛકોë અને િવલકોë બોઇલર 

C. A અને B બનેં D.  ઉપરમાથી કોઇ નહ� 

39. 

નીચેમાથી કઇ બોઇલર એસેસર�ઝ છે? 

A.  ફ�ડ ચક વાƣવ B. સેƝટ� વાƣવ  

C. વોટર લેવલ Ӗડ�ક°ટર D.  ઇકોનોમાઇ˺ર 

40. 

ઇકોનોમાઇઝરȵ ુકાય½.......... 

A.  Ɲɀ ુગેસીસને ગરમ કરવા B. બોઇલરમા જતા ફȼઅુલને ગરમ કરવા 

C. ફ�ડ વોટરને ગરમ કરવા D.  બોઇલરમા જતી હવાને ગરમ કરવા 
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41. 

એર ̆ી�હટરȵ ુકાય½...... 

A.  બોઇલરમા જતી હવાને ગરમ કરવા B. Ɲɀ ુગેસીસને ગરમ કરવા 

C. બોઇલરમા જતા ફȼઅુલને ગરમ કરવા D. ફ�ડ વોટરને ગરમ કરવા 

42. 

પƣͫન ƥહ�લ ટબા½ઇન એ ........ 

A.  ઇƠપƣસ ટબા½ઇન છે. B. ર�એƈશન ટબા½ઇન છે. 

C. A અને B બનેં D.  ઉપરમાથી કોઇ નહ� 

43. 

ડ�ઝલ Ӝĥન _______ ના નામે પણ ઓળખાય છે. 

A.  ƨપાક½ ઇƊનીશન Ӝĥન  B. A અને C  

C. કોƠ̆સેન ઇƊનીશન Ӝĥન  D.  ઉપરમાથી કોઇ નહ� 

44. 

સƈસન ƨ˼ોક દરમીયાન પે˼ોલ Ӝĥન Ƀ ુખેચે છે? 

A.  ફƈત હવા B. ફƈત પે˼ોલ  

C. પે˼ોલ અને હવાȵ ુિમ̒ણ  D.  ઉપરમાથી કોઇ નહ� 

45. 

કયા Ӝĥનમા ƨપાક½ Ɯલગ હોતો નથી? 

A.  પે˼ોલ Ӝĥન  B. ડ�ઝલ Ӝĥન  

C. ગેસ Ӝĥન  D.  ઉપરમાથી કોઇ નહ�. 

46. 

િપƨટન અને °˲ƛક વƍચેની �લƛકȵુ ંનામ ..................  

A.  કનેક�ટ�ગ રોડ B. િપƨટન િપન  

C. ȶશુ રોડ D.  °˲ƛક શાƝટ  

47. 

Ȭુ ƨ˼ોક એ�ƛજનમા ંએક સાઇકલ ȶȿંુૂ થવા માટ° °˲ƛક શાƝટના ક°ટલા �રવોƣȻશુન થાય છે ? 

A.  ́ણ  B. ચાર 

C. બે D.  એક 

48. 

Ȭુ ƨ˼ોક એ�ƛજનમા ં.................હોય છે॰   

A.  ઇનલેટ અને એકઝૉƨટ વાƣવ  B. ઇનલેટ અને એકઝૉƨટ પોટ½  

C. ઇનલેટ, એકઝૉƨટ અને ˼ાƛસફર પોટ½  D.  ઉપરના બધા  

49. 

નીચેનામાથંી કઈ િસƨટમ I.C. એ�ƛજનનો ભાગ નથી ? 

A.  ર°̇�જર°શન િસƨટમ  B. ફȼઅુલ િસƨટમ  

C. Ȣુ�લ�ગ િસƨટમ  D.  ɀ�ૂ̈ક°શન િસƨટમ  

50. 

પે˼ોલ એ�ƛજનને .................ના નામ થી પણ ઓળખવામા ંઆવ ેછે. 

A.  કોƠ̆શેન ઇ�Ɗનશન  B. ƨપાક½ ઇ�Ɗનશન 

C. A અને B બનેં D.  ઉપરમાથી કોઇ નહ�.  

51. 

ƨ˼ોક લેƛથને િપƨટનની ................ગિત Ⱥજુબ ƥયાƉયાિયત કરવામા ંઆવે છે .  

A.  BDC થી  TDC B. BDC થી TDC થી BDC 

C. TDC થી BDC થી TDC D.  ઉપરમાથી કોઇ નહ�. 

52. 

એકમ કદના ̃ƥયના દળને .................કહ°વામા ંઆવે છે. 

A.  િવિશƧટ વજન  B. ઘનતા  

C. િવિશƧટ ઘનતા D.  ઉપરમાથી કોઇ નહ�. 
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53. 

એકમ કદના ̃ƥયના વજનને ................કહ° છે. 

A.  િવિશƧટ વજન  B. ઘનતા  

C. િવિશƧટ ઘનતા D.  ઉપરમાથી કોઇ નહ�. 

54. 

પારો કાચની સપાટ�ને ભӄજવતો નથી. ̆વાહ�ના કયા Ȥણુધમ½ને લીધે આમ થાય છે? 

A.  વȴ ુƨવઆકષ½ણ  B. વȴ ુઘનતા  

C. �ƨનƊધતા  D.  ȶƧૃટતાણ  

55. 

ƛȻટુનના �ƨનƊધતાના િનયમ ને અȵસુરતા Ɲɀઈૂડને ................... કહ° છે. 

A.  વાƨતિવક Ɲɀઈૂડ  B. આદશ½ Ɲɀઈૂડ 

C. ƛȻટૂોનીયન Ɲɀઈૂડ D.  નોન-ƛȻટૂોનીયન Ɲɀઈૂડ 

56. 

નીચેનામાથંી કયો પોિસ�ટવ �ડƨƜલેશમેƛટ પƠપ નથી? 

A.  ર°િસ̆ોક°�ટ�ગ પƠપ  B. સેƛ˼�ફȼગુલ પƠપ 

C. �ગયર પƠપ D.  ƨŒ પƠપ 

57. 

નીચેનામાથંી કયો ભાગ સેƛ˼�ફȼગુલ પƠપનો ભાગ નથી?  

A.  ઇƠપેલર   B. ક°િશ�ગ  

C. સƈશન પાઇપ  D.  સƈશન વાƣવ  

58. 

કયા પƠપમા ંƝɀઈૂડȵુ ં�ડƨચાȒ િપƨટનની આવન-Ĥવન ગિતથી થાય છે? 

A.  ર°િસ̆ોક°�ટ�ગ પƠપ B. સેƛ˼�ફȼગુલ પƠપ 

C. ƨŒ પƠપ D.  �ગયર પƠપ 

59. 

સેƛ˼�ફȼગુલ પƠપમા ંĭટ વાƣવȵુ ંકાય½............. 

A.  Ɲɀઈૂડ ને મા́ નીચેની �દશામા ંજવા 

દ°વા માટ°  

B. Ɲɀઈૂડ ને મા́ ઉપરની �દશામા ંજવા દ°વા માટ° 

C. A અને B બનેં D.  ઉપરમાથી કોઇ નહ�. 

60. 

કયા મશીનથી હવાȵુ ંદબાણ વધારવામા ંઆવેછે? 74 

                                                    Bv}nbv  

A.  ગેસ ટબા½ઇન  B. I.C. એ�ƛજન 

C. બોઈલર  D.  કોƠ̆શેર 

61. 

કોƠ̆ેƨડ એર ðા ંવપરાય છે? 

A.  સેƛ˼�ફȼગુલ પƠપમા ં B. ƛȻમેૂ�ટક ˾�લ ચલાવવા માટ°  

C. A અને B બનેં D.  ઉપરમાથી કોઇ નહ�. 

62. 

હાઈ˾ો�લક ̆ેસ કયા િનયમ પર કાય½ કર° છે?  

A.  પાƨકલનો િનયમ  B. ƛȻટુનનો િનયમ 

C. ટ°ઈલરનો િનયમ D.  ઉપરમાથી કોઇ નહ�. 

63. 

વોટર ટબા½ઇન ȺƉુયƗવે ðા ંવપરાય છે? 

A.  ગેસ ટબા½ઇન Ɯલાƛટ  B. થમ½લ પાવર Ɯલાƛટ 

C. હાઇ˾ો-ઇલે�ƈ˼ક પાવર Ɯલાƛટ D.  ઉપરમાથી કોઇ નહ�. 
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64. 

નીચેનામાથંી Ƀુ ંબોઈલર માઉƛટӄગ નથી?  

A.  વોટર લેવલ ઈ�ƛડક°ટર  B. સેફટ� વાƣવ  

C. ̆ેસર ગેજ  D.  Ʌપુર હ�ટર  

65. 

નીચેનામાથંી Ƀુ ંબોઈલર એસેસર�ઝ નથી?  

A.  ̆ેસર ગેજ  B. એર ̆ીહ�ટર  

C. ઇકોનોમાઈઝર  D.  Ʌપુર હ�ટર  

66. 

ક°ટલા Ӕતર માટ° મટ��રયલને ˼ાƛસફર કરવા બેƣટ કƛવેયર નો ઉપયોગ થાય છે?  

A.  લાȸં ુӔતર  B. ȬૂંȢંુ Ӕતર  

C. A અને B બનેં D.  ઉપરમાથંી કોઈ નહӄ.  

67. 

નીચેનામાથંી કઈ અથ½ Ⱥિૂવ�ગ મશીન છે? 

A.  ફોક½ �લƝટ  B. ƨŒ કƛવેયર  

C. ȸલુડોઝર  D.  એ�લવેટર 

68. 

નીચેનામાથંી કȻુ ંહોઇ�ƨટ�ગ ઇ�ƈવપમેƛટ નથી?  

A.  �લƝટ  B. °˲ઇન  

C. ચેઇન ȶલુી ƞલોક  D.  ફોક½ �લƝટ 

69. 

નીચેનામાથંી કઇ °˲ઈન નથી? 

A.  �̈જ °˲ઇન B. લોકોમો�ટવ °˲ઇન  

C. ˼ક માઉƛટ°ડ °˲ઇન  D.  હ°ƛડ લોર�  

70. 

ડામર રોડને કોƠપેƈસન કરવા માટ° કȻુ ંમશીન વપરાય છે?  

A.  બક°ટ એ�લવેટર  B. ȸલુડોઝર 

C. રોડ રોલર  D.  િમ�ë�ગ મશીન  
************** 

 


